
Week 4 SI Answers
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U
. Cos (-13503--051225) : - ¥
*
-13s is co terminal with 22s

COS (2-1350)=105127003--0
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3.a. Use the format D= cecosbt [ No d value given]

- find a tb

= > amplitude given as 3cm
,
so la/ =3

- but
,
were given that it starts at -3cm

,
so

W= - 3

214
= > were given the period (65)

,
so 2%-6 = > b. = To

= Eg
i. D= -3605C 'Ét)

b.
- again, find at b

in for
D= - 155in ( t )

⇒ U is given as is
,

so lal -45

2H=£- but
,

it says it initiarly moves downwards( negative)
,

so a must be - is
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4. First
,
draw the graph of 4=3Sin↳ 4T¥) for a guide

oh 3×1-1%12 't = > - E. < ✗< Iz
i > Next

,
draw asymptotes at

every point the graph crosses
0
,

t draw U Shapes at

the Max t min points



b. 4=-1,cos(2☒- it)

022×-1+2214=>11%2 ✗ C- 3¥

= > then draw asymptotes

@ 0 Points
,

t make

U Shapes at Max t min

Points .


